100 24

100

16

24

1/100

17

1/100
1/500

19

3-2

100

1/100




1/100

> I 1/100




49

7,000m*/s
10,700m%/s
16 7 33 9 41 6
1/150
2
2 1/150 256.5mm
251.6mm
33 9 41 6 41 9
6
7,000ms/s
10,700ma/s
)
33 14 45
1/150
1/150 5,200 7,000 ma/s
12,400 ma/s

10,200



% 4-101).1/150 R

b -

1

L

(1@

2
==

HESAETIL HERAE (n'/s)
FHiEEHYE RS 7,000
— b E{E T 6, 500
HEEFT Y2 B (RIER) 5,200
SEET UL Bt () 5, 800
=ik 7,000
AR - @k 5, 900
SEHMOF AN 6, 000
3 BNk 5, 800

F=-A-1(2) 1150 FrESiie (EiRithm)

HEITTTIL HEERE (n'/s)
i b i) 11, 000
FAREHBHYEEXRE T 11, 400
— fig b A {E o 10 12,100
HSEETFT Y B (et 10, 200
aHE 12,400
AlF - mEk 10, 700
JBHMOF I ALK 10, 300
3 BEInEE 10, 700

)
7,800m%/s
13,700m*/s
7,000ms/s 10,700m%/s
7,000
m®/s 10,700 m*/s



= |
]
e

L

£

i

4

1

k)

1

11
L]

[ ]
B

[

g

=

4

P

4

CLL [
i | -
ree rE 1
-l
- .I
CLL m
CLL o
CLL 40
CLL =
CLL 0
CLL 1.1}
e
L B
oo LMo 1M 1B 11 ELLC 120 19 M ] 12°EE 18- E 11 10K 120
L3 — I
A = S61. &
I, OO [
=
HESE
Lo ! 1
HT .u el = 2|
- =
oo ]
' N

Lo n
[Lee 41
T, OO 11
[Lee [ ]
L I o ]
Lo f [ ]
¥, OO - L]
[Le 11
L = L]
[ ]
[N e 1] B0 AL I E N [ 1] 1] [ [LL ELL 1@ 1B 1.11 11 1300

L]

HESMANAS FOYS T (5618 BB



